

## ASYMPTOTIC FORMULAS FOR CONVERGENCES MOTIVATED BY KOROVKIN'S THEOREM

Dumitru POPA

Ovidius University of Constanta, Department of Mathematics and Informatics, Bd. Mamaia 124, 900527 Constanta, Romania

E-mail: dpopa@univ-ovidius.ro

**Abstract.** The aim of the present paper is to prove asymptotic formulas.

**Key words:** Korovkin's theorem, uniform convergence, asymptotic approximations, differentiability at a boundary point, multiple integral.

### 1. INTRODUCTION

The celebrated theorem of Korovkin gives us conditions for uniform approximation of continuous functions on a compact interval via sequences of positive linear operators, see [7], [8]. More precisely, if  $(T_n)_{n \in \mathbb{N}}$  is a sequence of positive linear operators that map  $C([0, 1])$  into itself such that the sequence  $(T_n(f))_{n \in \mathbb{N}}$  converges to  $f$  uniformly on  $[0, 1]$  for each of the test functions  $e_k(x) = x^k$ , where  $k = 0, 1, 2$ , then this sequence also converges to  $f$  uniformly on  $[0, 1]$  for every  $f \in C([0, 1])$ . An immediate consequence of it is the fact that

$$\lim_{n \rightarrow \infty} n \int_0^1 x^n f(x) dx = f(1) \quad (1)$$

for every continuous function  $f : [0, 1] \rightarrow \mathbb{R}$ , which means the weak convergence of the sequence  $nx^n dx$  of measures to the Dirac measure  $\delta_1$ , see [8, Exercise 1, page 54]. As the weak convergence of measures is one of the most important tools in partial differential equations, probability theory, applied and theoretic statistics etc, see [3], it is natural to investigate the extension of Korovkin's limit (1) to the case of functions of several variables. An inspection of Korovkin's argument easily yields the following generalization for several variables:

**THEOREM 1.** (The extension of Korovkin's theorem for several variables) *Suppose that  $X$  is a compact subset of the Euclidean space  $\mathbb{R}^k$  and let  $(T_n)_{n \in \mathbb{N}}$  be a sequence of linear and positive operators from  $C(X)$  into itself such that*

$$\lim_{n \rightarrow \infty} T_n(f) = f \quad \text{uniformly on } X \quad (2)$$

for each of the test functions  $\mathbf{1}$ ,  $pr_1$ , ...,  $pr_k$  and  $\sum_{i=1}^k pr_i^2$ . Then

$$\lim_{n \rightarrow \infty} T_n(f) = f \quad \text{uniformly on } X \quad (3)$$

for all functions  $f \in C(X)$ .

The family of test functions used here is built via the canonical projections on the Euclidean  $k$ -dimensional space  $pr_i(x_1, \dots, x_k) = x_i$ ,  $i = 1, \dots, k$ .

For details and various generalizations see Altomare [1], Bucur and Păltineanu [4], Gal and Niculescu [5], [6] and Niculescu [9]. In this paper, we prove some possible extensions of the limit (1) to the double integrals

on a triangle, see Theorem 2 and Proposition 3. We establish then a general result regarding the asymptotic evaluation for functions differentiable at  $(1, 0)$ , see Theorem 3 and as a consequence, we obtain the asymptotic evaluation for functions differentiable at  $(1, 0)$  in the case of two concrete situations, Theorems 4 and 5. We define  $\Delta = \{(x, y) \in [0, 1]^2 \mid x + y \leq 1\}$  and denote as usual  $C(\Delta) = \{f : \Delta \rightarrow \mathbb{R} \mid f \text{ is continuous}\}$  which is a real linear space and for  $f \in C(\Delta)$  we define  $\|f\| = \sup_{(x,y) \in \Delta} |f(x, y)|$ . By  $\mathbf{1}$  we denote the constant function equal

with 1. In the proof of the asymptotic evaluations we need the concept of differentiability at the point  $(1, 0) \in \Delta$ . Since  $(1, 0)$  is not an interior point of  $\Delta$  this concept needs an explanation. Precisely it refers to differentiability at a point which is the vertex of a non-degenerate cone.

*Definition 1.* A function  $f : \Delta \rightarrow \mathbb{R}$  is called **differentiable at**  $(1, 0)$  if and only if there exist  $A, B \in \mathbb{R}$  such that

$$\lim_{(x,y) \rightarrow (1,0), (x,y) \in \Delta} \frac{f(x, y) - f(1, 0) - A(x-1) - By}{|x-1| + |y|} = \lim_{(x,y) \rightarrow (1,0), (x,y) \in \Delta} \frac{f(x, y) - f(1, 0) - A(x-1) - By}{1-x+y} = 0.$$

Let us note that if  $f : \Delta \rightarrow \mathbb{R}$  is differentiable at  $(1, 0)$  then:  $\forall \varepsilon > 0, \exists \delta_\varepsilon > 0$  such that  $\forall (x, y) \in \Delta - \{(1, 0)\}$  with  $|x-1| + |y| < \delta_\varepsilon$  we have  $\frac{|f(x,y) - f(1,0) - A(x-1) - By|}{|x-1| + |y|} < \varepsilon$ , or equivalent,  $\forall (x, y) \in \Delta$  with  $|x-1| + |y| < \delta_\varepsilon$  we have

$$|f(x, y) - f(1, 0) - A(x-1) - By| \leq \varepsilon(|x-1| + |y|).$$

For  $y = 0$  we get,  $|f(x, 0) - f(1, 0) - A(x-1)| \leq \varepsilon|x-1|, \forall |x-1| < \delta_\varepsilon$ , that is,  $A = \lim_{x \rightarrow 1, x < 1} \frac{f(x, 0) - f(1, 0)}{x-1} = \frac{\partial f}{\partial x}(1, 0)$ . For  $x = 1 - y$  we get  $|f(1 - y, y) - f(1, 0) + Ay - By| \leq 2\varepsilon|y|, \forall |y| < \frac{\delta_\varepsilon}{2}$ . Hence there exists the directional derivative of  $f$  at  $(1, 0)$  along the line  $l: x + y = 1$ , that is,

$$\frac{\partial f}{\partial l}(1, 0) := \lim_{y \rightarrow 0, y > 0} \frac{f(1 - y, y) - f(1, 0)}{y}$$

and  $\frac{\partial f}{\partial l}(1, 0) = B - A$ , thus  $B = \frac{\partial f}{\partial x}(1, 0) + \frac{\partial f}{\partial l}(1, 0)$ .

All notation and notions used and not defined in this paper are standard, see [4].

## 2. THE CONVERGENCE

**THEOREM 2.** Let  $f : \Delta \rightarrow \mathbb{R}$  be a continuous function. Then

$$\lim_{n \rightarrow \infty} n^2 \iint_{\Delta} x^n (1-y)^n f(x, y) dx dy = \frac{f(1, 0)}{2}.$$

*Proof.* Let  $L_n : C(\Delta) \rightarrow \mathbb{R}$  be the sequence of functionals defined by  $L_n(f) = n^2 \iint_{\Delta} x^n (1-y)^n f(x, y) dx dy$ . By calculations we get  $L_n(\mathbf{1}) = \frac{n^2}{2(n+1)^2}, L_n(pr_1) = \frac{n^2}{(n+2)(2n+3)}, L_n(pr_1^2) = \frac{n^2}{2(n+3)(n+2)}, L_n(pr_2) = \frac{n^2}{2(n+1)^2(2n+3)}, L_n(pr_2^2) = \frac{n^2}{2(n+1)^2(n+2)(2n+3)}$ . We deduce that  $\lim_{n \rightarrow \infty} L_n(f) = \frac{f(1,0)}{2}, \forall f \in \{\mathbf{1}, pr_1, pr_2, pr_1^2 + pr_2^2\}$ . According to Theorem 1 one can conclude that  $\lim_{n \rightarrow \infty} L_n(f) = \frac{f(1,0)}{2}$  for all  $f \in C(\Delta)$ .  $\square$

## 3. A GENERAL ASYMPTOTIC EVALUATION

The aim of the present paper is to provide an asymptotic evaluation for the convergence established in Theorem 2. This is done in the context of functions differentiable at  $(1, 0)$  and makes the objective of Theorem 4 below. For this we prove the following general result.

**THEOREM 3.** Let  $K_n : \Delta \rightarrow [0, \infty)$  be a sequence of continuous functions and  $L_n : C(\Delta) \rightarrow \mathbb{R}$  the functional defined by

$$L_n(f) = \iint_{\Delta} K_n(x, y) f(x, y) dx dy.$$

Suppose that there exists  $n_0 \in \mathbb{N}$  such that for all  $n \geq n_0$  we have  $\iint_{\Delta} K_n(x, y) ((1-x) + y) dx dy > 0$ . Then the following assertions are equivalent:

(i)

$$\lim_{n \rightarrow \infty} \frac{\iint_{\Delta} ((1-x) + y)^2 K_n(x, y) dx dy}{\iint_{\Delta} ((1-x) + y) K_n(x, y) dx dy} = 0.$$

(ii) For every  $f \in C(\Delta)$  differentiable at  $(1, 0)$  we have

$$\lim_{n \rightarrow \infty} \frac{L_n(f) - f(1, 0) \lambda_n + \frac{\partial f}{\partial x}(1, 0) \alpha_n - \left( \frac{\partial f}{\partial x}(1, 0) + \frac{\partial f}{\partial l}(1, 0) \right) \beta_n}{\alpha_n + \beta_n} = 0$$

where  $\lambda_n = \iint_{\Delta} K_n(x, y) dx dy$ ,  $\alpha_n = \iint_{\Delta} (1-x) K_n(x, y) dx dy$ ,  $\beta_n = \iint_{\Delta} y K_n(x, y) dx dy$ .

*Proof.* (i) $\Rightarrow$ (ii). Since  $f$  is differentiable at  $(1, 0)$ ,  $\lim_{(x,y) \rightarrow (1,0), (x,y) \in \Delta} \frac{g(x,y)}{|x-1|+|y|} = 0$ , where  $g : \Delta \rightarrow \mathbb{R}$ ,  $g(x, y) = f(x, y) - f(1, 0) - A(x-1) - By$ , see the Definition 1. Let  $\varepsilon > 0$ . Then there exists  $\delta_\varepsilon > 0$  such that  $\forall (x, y) \in \Delta$  with  $|x-1| + |y| < \delta_\varepsilon$  we have  $|g(x, y)| \leq \frac{\varepsilon}{2} (|x-1| + |y|)$ . We prove that  $\forall (x, y) \in \Delta$  we have

$$|g(x, y)| \leq \frac{\varepsilon}{2} (|x-1| + |y|) + \eta_\varepsilon (|x-1| + |y|)^2. \quad (4)$$

where  $\eta_\varepsilon = \frac{\|g\|}{\delta_\varepsilon^2}$ . This argument has its origins in the Korovkin's proof of his theorem, see [8, page 13], or [10, Lemma 1]. Indeed, let  $(x, y) \in \Delta$ . We can have the situations: a)  $|x-1| + |y| < \delta_\varepsilon$ . In this case  $|g(x, y)| \leq \frac{\varepsilon}{2} (|x-1| + |y|) \leq \frac{\varepsilon}{2} (|x-1| + |y|) + \frac{\|g\|}{\delta_\varepsilon^2} (|x-1| + |y|)^2$ . b)  $|x-1| + |y| \geq \delta_\varepsilon$ . In this case  $1 \leq \frac{(|x-1|+|y|)^2}{\delta_\varepsilon^2}$  and then

$$|g(x, y)| \leq \|g\| \leq \|g\| \frac{(|x-1| + |y|)^2}{\delta_\varepsilon^2} \leq \frac{\varepsilon}{2} (|x-1| + |y|) + \frac{\|g\|}{\delta_\varepsilon^2} (|x-1| + |y|)^2.$$

Let  $n \geq n_0$ . From (4) multiplying with  $K_n(x, y) \geq 0$  and then, by integration we get

$$|L_n(f) - f(1, 0) \lambda_n + A \alpha_n - B \beta_n| \leq$$

$$\begin{aligned} & \iint_{\Delta} |K_n(x, y) f(x, y) - f(1, 0) K_n(x, y) + A(1-x) K_n(x, y) - B y K_n(x, y)| dx dy \\ & \leq \frac{\varepsilon}{2} \iint_{\Delta} K_n(x, y) ((1-x) + y) dx dy + \eta_\varepsilon \iint_{\Delta} K_n(x, y) ((1-x) + y)^2 dx dy. \end{aligned}$$

Thus

$$\left| \frac{L_n(f) - f(1, 0) \lambda_n + A \alpha_n - B \beta_n}{\alpha_n + \beta_n} \right| \leq \frac{\varepsilon}{2} + \eta_\varepsilon \frac{\iint_{\Delta} K_n(x, y) ((1-x) + y)^2 dx dy}{\iint_{\Delta} K_n(x, y) ((1-x) + y) dx dy}.$$

By (i) there exists  $n_\varepsilon \geq n_0$  such that  $\forall n \geq n_\varepsilon$  we have  $\frac{\iint_{\Delta} K_n(x, y) ((1-x) + y)^2 dx dy}{\iint_{\Delta} K_n(x, y) ((1-x) + y) dx dy} < \frac{\varepsilon}{2(n_\varepsilon + 1)}$  and hence  $\forall n \geq n_\varepsilon$  we have  $\left| \frac{L_n(f) - f(1, 0) \lambda_n + A \alpha_n - B \beta_n}{\alpha_n + \beta_n} \right| < \varepsilon$ . Thus (ii) is proved. (ii) $\Rightarrow$ (i). It follows from (ii) applied for the function  $f : \Delta \rightarrow \mathbb{R}$ ,  $f(x, y) = ((1-x) + y)^2$ ;  $\frac{\partial f}{\partial x}(1, 0) = 0$ ,  $\frac{\partial f}{\partial l}(1, 0) = 0$ .  $\square$

#### 4. SOME EXAMPLES

We need latter the following calculations.

PROPOSITION 1. *The following formulas hold true:*

$$\begin{aligned}\iint_{\Delta} x^n (1-y)^n (1-x) dx dy &= \frac{3n+4}{2(n+1)^2(n+2)(2n+3)}; \\ \iint_{\Delta} x^n (1-y)^n y dx dy &= \frac{1}{2(n+1)^2(2n+3)}; \\ \iint_{\Delta} x^n (1-y)^n (1-x)^2 dx dy &= \frac{7n+9}{2(n+1)^2(n+2)(n+3)(2n+3)}; \\ \iint_{\Delta} x^n (1-y)^n (1-x)y dx dy &= \frac{1}{2(n+1)^2(n+2)^2}; \\ \iint_{\Delta} x^n (1-y)^n y^2 dx dy &= \frac{1}{2(n+1)^2(n+2)(2n+3)}.\end{aligned}$$

*Proof.* We will use the well-known equality

$$\iint_{\Delta} f(x,y) dx dy = \int_0^1 dx \int_0^{1-x} f(x,y) dy \quad (5)$$

for continuous functions  $f : \Delta \rightarrow \mathbb{R}$ , see [2, page 247]. For more details regarding the multiple Riemann integral we recommend the reader the excellent treatment of this concept in the book of Boboc, see [2]. The first two equalities follows by direct calculations from the relation (5) and we omit it. For the last equalities we will use the equality (5) and integration by parts. We have

$$\begin{aligned}\iint_{\Delta} x^n (1-y)^n (1-x)^2 dx dy &= \frac{1}{n+1} \int_0^1 x^n (1-x^{n+1}) (1-x)^2 dx \\ &= \frac{1}{(n+1)^2} \int_0^1 \left( x^{n+1} - \frac{x^{2n+2}}{2} \right)' (1-x)^2 dx = \frac{2}{(n+1)^2} \int_0^1 \left( x^{n+1} - \frac{x^{2n+2}}{2} \right) (1-x) dx \\ &= \frac{2}{(n+1)^2} \int_0^1 \left( \frac{x^{n+2}}{n+2} - \frac{x^{2n+3}}{2(2n+3)} \right)' (1-x) dx = \frac{2}{(n+1)^2} \int_0^1 \left( \frac{x^{n+2}}{n+2} - \frac{x^{2n+3}}{2(2n+3)} \right) dx \\ &= \frac{2}{(n+1)^2} \left( \frac{1}{(n+2)(n+3)} - \frac{1}{4(n+2)(2n+3)} \right) = \frac{7n+9}{2(n+1)^2(n+2)(n+3)(2n+3)}.\end{aligned}$$

We have

$$\begin{aligned}\iint_{\Delta} x^n (1-y)^n (1-x)y dx dy &= \iint_{\Delta} x^n (1-x)(1-y)^n dx dy - \iint_{\Delta} x^n (1-x)(1-y)^{n+1} dx dy \\ &= \frac{1}{n+1} \int_0^1 (x^n - x^{n+1}) (1-x^{n+1}) dx - \frac{1}{n+2} \int_0^1 (x^n - x^{n+1}) (1-x^{n+2}) dx.\end{aligned}$$

Integrating by parts

$$\begin{aligned}\frac{1}{n+1} \int_0^1 (x^n - x^{n+1}) (1-x^{n+1}) dx &= \frac{1}{n+1} \int_0^1 \left( \frac{x^{n+1}}{n+1} - \frac{x^{n+2}}{n+2} \right)' (1-x^{n+1}) dx \\ &= \int_0^1 \left( \frac{x^{n+1}}{n+1} - \frac{x^{n+2}}{n+2} \right) x^n dx = \frac{1}{2(n+1)^2} - \frac{1}{(n+2)(2n+3)} = \frac{3n+4}{2(n+1)^2(n+2)(2n+3)}\end{aligned}$$

and similar

$$\begin{aligned} & \frac{1}{n+2} \int_0^1 (x^n - x^{n+1}) (1 - x^{n+2}) dx = \frac{1}{n+2} \int_0^1 \left( \frac{x^{n+1}}{n+1} - \frac{x^{n+2}}{n+2} \right)' (1 - x^{n+2}) dx \\ &= \int_0^1 \left( \frac{x^{n+1}}{n+1} - \frac{x^{n+2}}{n+2} \right) x^{n+1} dx = \frac{1}{(n+1)(2n+3)} - \frac{1}{2(n+2)^2} = \frac{3n+5}{2(n+1)(n+2)^2(2n+3)}. \end{aligned}$$

It follows that  $\iint_{\Delta} x^n (1-y)^n (1-x)y dx dy = \frac{1}{2(n+1)^2(n+2)^2}$ . We have also

$$\begin{aligned} & \iint_{\Delta} x^n (1-y)^n y^2 dx dy = \iint_{\Delta} x^n \left( (1-y)^{n+2} - 2(1-y)^{n+1} + (1-y)^n \right) dx dy \\ &= \int_0^1 x^n \left( \frac{1-x^{n+3}}{n+3} - \frac{2(1-x^{n+2})}{n+2} + \frac{1-x^{n+1}}{n+1} \right) dx = \frac{1}{2(n+1)^2(n+2)(2n+3)}. \end{aligned}$$

□

We are now in the position to prove the asymptotic evaluation of the sequence from Theorem 2.

**THEOREM 4.** *Let  $L_n : C(\Delta) \rightarrow \mathbb{R}$  be the functional defined by*

$$L_n(f) = n^2 \iint_{\Delta} x^n (1-y)^n f(x,y) dx dy.$$

*Then for every  $f \in C(\Delta)$  differentiable at  $(1,0)$  we have*

$$\lim_{n \rightarrow \infty} n \left[ L_n(f) - \frac{f(1,0)}{2} \right] = -f(1,0) - \frac{1}{2} \frac{\partial f}{\partial x}(1,0) + \frac{1}{4} \frac{\partial f}{\partial l}(1,0).$$

*Proof.* Let  $K_n(x,y) = n^2 x^n (1-y)^n$ . From Proposition 1 we deduce  $\lim_{n \rightarrow \infty} n^2 \iint_{\Delta} K_n(x,y) ((1-x)+y)^2 dx dy = 3$  and  $\lim_{n \rightarrow \infty} n \iint_{\Delta} K_n(x,y) ((1-x)+y) dx dy = 1$ . The condition (i) in Theorem 3 is satisfied and hence for every  $f \in C(\Delta)$  differentiable at  $(1,0)$  we have

$$\lim_{n \rightarrow \infty} \frac{L_n(f) - f(1,0) \lambda_n + \frac{\partial f}{\partial x}(1,0) \alpha_n - \left( \frac{\partial f}{\partial x}(1,0) + \frac{\partial f}{\partial l}(1,0) \right) \beta_n}{\alpha_n + \beta_n} = 0.$$

Since  $\lim_{n \rightarrow \infty} n \alpha_n = \frac{3}{4}$ ,  $\lim_{n \rightarrow \infty} n \beta_n = \frac{1}{4}$  we get

$$\lim_{n \rightarrow \infty} n \left[ L_n(f) - f(1,0) \lambda_n \right] = -\frac{3}{4} \frac{\partial f}{\partial x}(1,0) + \frac{1}{4} \left( \frac{\partial f}{\partial x}(1,0) + \frac{\partial f}{\partial l}(1,0) \right) = -\frac{1}{2} \frac{\partial f}{\partial x}(1,0) + \frac{1}{4} \frac{\partial f}{\partial l}(1,0).$$

Also  $\lambda_n = n^2 \iint_{\Delta} x^n (1-y)^n dx dy = \frac{n^2}{2(n+1)^2}$ ,  $\lim_{n \rightarrow \infty} n \left( \lambda_n - \frac{1}{2} \right) = -1$ . Then passing to the limit in the equality

$$n \left[ L_n(f) - \frac{f(1,0)}{2} \right] = n \left[ L_n(f) - f(1,0) \lambda_n \right] + f(1,0) n \left( \lambda_n - \frac{1}{2} \right)$$

we get the limit from the statement. □

We remark the asymmetric form of the asymptotic evaluation in Theorem 4. Our next objective is to give a new example of the sequences of the operators as those from Theorems 2 and 4. We need the following result.

PROPOSITION 2. Let  $(x_n)_{n \geq 1}$  be a sequence of the real numbers and  $\alpha > 1$  such that  $\lim_{n \rightarrow \infty} n^\alpha x_n = b \in \mathbb{R}$ .

Then  $\lim_{n \rightarrow \infty} n^{\alpha-1} (x_n + \dots + x_{2n-1}) = \frac{(2^{\alpha-1}-1)b}{2^{\alpha-1}(\alpha-1)}$ .

*Proof.* Let  $\varepsilon > 0$ . There exists  $n_\varepsilon \in \mathbb{N}$  such that  $\forall n \geq n_\varepsilon$  we have  $|n^\alpha x_n - b| < \varepsilon$ , or  $|x_n - \frac{b}{n^\alpha}| < \frac{\varepsilon}{n^\alpha}$ . Let  $n \geq n_\varepsilon$ . For every  $k = 0, \dots, n-1$  we have  $n+k \geq n_\varepsilon$  and hence  $|x_{n+k} - \frac{b}{(n+k)^\alpha}| < \frac{\varepsilon}{(n+k)^\alpha}$ . We deduce that

$$\left| \sum_{k=0}^{n-1} x_{n+k} - b \sum_{k=0}^{n-1} \frac{1}{(n+k)^\alpha} \right| \leq \sum_{k=0}^{n-1} \left| x_{n+k} - \frac{b}{(n+k)^\alpha} \right| < \varepsilon \sum_{k=0}^{n-1} \frac{1}{(n+k)^\alpha}$$

or  $\left| \frac{\sum_{k=0}^{n-1} x_{n+k}}{\sum_{k=0}^{n-1} \frac{1}{(n+k)^\alpha}} - b \right| < \varepsilon$ . It follows that  $\lim_{n \rightarrow \infty} \frac{\sum_{k=0}^{n-1} x_{n+k}}{\sum_{k=0}^{n-1} \frac{1}{(n+k)^\alpha}} = b$ , or,  $\lim_{n \rightarrow \infty} \frac{n^{\alpha-1} \sum_{k=0}^{n-1} x_{n+k}}{\frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{(1+\frac{k}{n})^\alpha}} = b$ . Since  $\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{(1+\frac{k}{n})^\alpha} = \int_0^1 \frac{dx}{(x+1)^\alpha} = \frac{2^{\alpha-1}-1}{2^{\alpha-1}(\alpha-1)}$  we get the limit from the statement.  $\square$

PROPOSITION 3. Let  $f : \Delta \rightarrow \mathbb{R}$  be a continuous function. Then

$$\lim_{n \rightarrow \infty} n \iint_{\Delta} x^n (1-y)^n \left( \sum_{k=0}^{n-1} x^k (1-y)^k \right) f(x,y) dx dy = \frac{f(1,0)}{4}.$$

*Proof.* It follows from Theorem 2 and Proposition 2 ( $\alpha = 2$ ).  $\square$

THEOREM 5. Let  $A_n : C(\Delta) \rightarrow \mathbb{R}$  be the functional defined by

$$A_n(f) = n \iint_{\Delta} x^n (1-y)^n \left( \sum_{k=0}^{n-1} x^k (1-y)^k \right) f(x,y) dx dy.$$

Then for every  $f \in C(\Delta)$  differentiable at  $(1,0)$  we have

$$\lim_{n \rightarrow \infty} n \left[ A_n(f) - \frac{f(1,0)}{4} \right] = -\frac{3f(1,0)}{16} - \frac{3}{16} \frac{\partial f}{\partial x}(1,0) + \frac{3}{32} \frac{\partial f}{\partial l}(1,0).$$

*Proof.* Let  $V_n : C(\Delta) \rightarrow \mathbb{R}$  be defined by  $V_n(f) = \iint_{\Delta} x^n (1-y)^n f(x,y) dx dy$ . Let  $f \in C(\Delta)$  be differentiable at  $(1,0)$ . From Theorem 4,  $\lim_{n \rightarrow \infty} n [n^2 V_n(f) - a] = b$  with  $a = \frac{f(1,0)}{2}$ ,  $b = -f(1,0) - \frac{1}{2} \frac{\partial f}{\partial x}(1,0) + \frac{1}{4} \frac{\partial f}{\partial l}(1,0)$ . If, for every  $n \in \mathbb{N}$  we define  $R_n = n^2 V_n(f) - a - \frac{b}{n}$  then,  $n^2 V_n(f) = a + \frac{b}{n} + R_n$  and  $\lim_{n \rightarrow \infty} n R_n = 0$ .

From  $V_n(f) = \frac{a}{n^2} + \frac{b}{n^3} + \frac{R_n}{n^2}$ , by summation we get  $\sum_{k=n}^{2n-1} V_k(f) = a \sum_{k=n}^{2n-1} \frac{1}{k^2} + b \sum_{k=n}^{2n-1} \frac{1}{k^3} + E_n$ ,  $E_n = \sum_{k=n}^{2n-1} r_k$ , where  $r_n = \frac{R_n}{n^2}$ . Since  $\lim_{n \rightarrow \infty} n^3 r_n = \lim_{n \rightarrow \infty} n R_n = 0$  from Proposition 2,  $\lim_{n \rightarrow \infty} n^2 E_n = 0$ , that is  $E_n = o\left(\frac{1}{n^2}\right)$ . Hence

$$\sum_{k=n}^{2n-1} V_k(f) = a \sum_{k=n}^{2n-1} \frac{1}{k^2} + b \sum_{k=n}^{2n-1} \frac{1}{k^3} + o\left(\frac{1}{n^2}\right).$$

Since  $\sum_{k=n}^{2n-1} \frac{1}{k^3} = \frac{1}{n^3} \sum_{k=0}^{n-1} \frac{1}{(1+\frac{k}{n})^3} = \frac{1}{n^2} t_n$  and  $\lim_{n \rightarrow \infty} t_n = \int_0^1 \frac{dx}{(x+1)^3} = \frac{3}{8}$  we have  $\sum_{k=n}^{2n-1} \frac{1}{k^3} = \frac{3}{8n^2} + o\left(\frac{1}{n^2}\right)$ . Let us note the

equality  $\sum_{k=n}^{2n-1} \frac{1}{k^2} = \frac{1}{n^2} \sum_{k=0}^{n-1} \frac{1}{(1+\frac{k}{n})^2} = \frac{1}{n} s_n$ , where  $s_n = \frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{(1+\frac{k}{n})^2}$ . As is well-known, for functions  $\varphi \in C^1$  the

following evaluation holds  $\frac{1}{n} \sum_{k=0}^{n-1} \varphi\left(\frac{k}{n}\right) = \int_0^1 \varphi(x) dx - \frac{\varphi(1)-\varphi(0)}{2n} + o\left(\frac{1}{n}\right)$ , which for  $\varphi(x) = \frac{1}{(x+1)^2}$ , gives us that

$s_n = \frac{1}{2} + \frac{3}{8n} + o\left(\frac{1}{n}\right)$  and hence  $\sum_{k=n}^{2n-1} \frac{1}{k^2} = \frac{1}{2n} + \frac{3}{8n^2} + o\left(\frac{1}{n^2}\right)$ . We get  $\sum_{k=n}^{2n-1} V_k(f) = \frac{a}{2n} + \left(\frac{3a}{8} + \frac{3b}{8}\right) \frac{1}{n^2} + o\left(\frac{1}{n^2}\right)$ , or  $n \sum_{k=n}^{2n-1} V_k(f) = \frac{a}{2} + \left(\frac{3a}{8} + \frac{3b}{8}\right) \frac{1}{n} + o\left(\frac{1}{n}\right)$ . Since  $A_n(f) = n \sum_{k=n}^{2n-1} V_k(f)$  the limit from the statement follows.  $\square$

### ACKNOWLEDGEMENTS

We would like to thank the reviewer of our paper for carefully reading the manuscript and for very constructive comments, remarks and suggestions which helped improving the first version of the paper.

### REFERENCES

1. F. ALTOMARE, *Korovkin-type theorems and positive operators*, Surveys in Approximation Theory, **6**, pp. 92–164, 2010.
2. N. BOBOC, *Analiză matematică, Partea a II-a (curs tipărit)*, București, 1993.
3. V.I. BOGACHEV, *Weak convergence of measures*, Providence, RI, American Mathematical Society, 2018.
4. I. BUCUR, G. PALTINEANU, *Topics in uniform approximation of continuous functions*, Birkhäuser, Basel, 2020.
5. S. G. GAL, C. P. NICULESCU, *A nonlinear extension of Korovkin's theorem*, Mediterr. J. Math., **17**, 5, pp. 1–14, 2020.
6. S. G. GAL, C. P. NICULESCU, *Nonlinear versions of Korovkin's abstract theorems*, Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas, **116**, art. 68, 2022.
7. P.P. KOROVKIN, *On convergence of linear positive operators in the space of continuous functions*, Dokl. Akad. Nauk SSSR, **90**, pp. 961–964, 1953.
8. P.P. KOROVKIN, *Linear operators and approximation theory*, Fitzmatgiz, Moscow, 1959 (in Russian); New York, Hindustan Publishing Corp., Delhi, 1960.
9. C. P. NICULESCU, *An overview of absolute continuity and its applications*, In: Inequalities and applications (eds. C. Bandle, L. Losonczi, A. Gilnyi, Z. Ples, M. Plum), International Series of Numerical Mathematics, vol. 157, pp. 201–214, Birkhäuser, Basel, 2009.
10. D. POPA, *Approximation of the continuous functions on  $l_p$  spaces with  $p$  an even natural number*, Positivity, **24**, 4, pp. 1135–1149, 2020.

Received December 8, 2021